This question péper consists of 50 questions [Section-A (30) + Section-B (5+5+5+5)] and 11 printed
pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of questions contained

in the paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the answer-book or writing roll number anywhere other than the
specified places will lead to disqualification of the candidate.
4. Write your Question Paper Code No. 36/ISS/2, Set [A] on the answer-book.
S. (a) The question paper is in English/Hindi medium only. However, if you wish, you can answer in
any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book. .

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any. errors/mistakes in understanding the question will be yours only.
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BIOLOGY (Theory)

(314)
Time : 3 Hours | : [ Maximum Marks . 80
g : 3 0L | | Tﬁ% : 80
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and B,

(i) Al questions from Section ‘A’ are to be attempted.

4
(i) Section ‘B’ has got. more than one option. Candidates are required to
attempt questions from one option only. ‘
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SECTION-A
Ques-3

1. What does the core of a virus particle consist of ? 1

foreft forayy (amaRd) o1 1 ofiadl s wrT e weTe 6 S g @7

2. Name any two organelles in plant cells that can self-duplicate to produce their
own kind. 1

qre AR % feedl B) it % am frftae, R @ wlfa g1 o @ S s e a6
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3. A plant cell when placed in a certain solution got plasmolysed (shrinkage of cell
contents). What was the nature of the solution? 1

T TIET PR Bl T R Hiet W@ W 3w Sagsage (R % el wm w fgs sr)
< TN ST g e e T B

4. What happens to the leaves in the phylloclade of Opuntia? 1
3R & qoivaa (Frgieie) § uftrl =t = &t s 27
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10.

11.

How does a hydra reproduce asexually in a natural way? Write very briefly.

WTehiaeh &9 A Tregl fra wor e faftr & S e 3 7 oga daw # Tl

What is the principle of segregation as stated by Mendel?
Ted 0 SarE T foeasE (gueRn) w1 R w®@ Re

How many pairs of genes are involved in the inheritance of the colour of wheat
kernel? What do you call this type of inheritance?

g F T & T h Femfa & foraa e o7 Fifka 217 #7 30 worr Y Femia ot o1 e e £7

What was Chipko Movement?
Rt e Fm ar?

. Bread mould growing on a piece of bread has turned greyish black in colour.

Explain this change in colour and describe what happens immediately next.
o I T AT FEe 1 T SR YO Hrer-al g 1 B 1 39 Tr-ufad & forwa 7 weemew aon
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Where and in what way are the ribosomes found in a normal cell? What is their
main function?

‘@Waﬁﬁm%sﬁmmw-ﬁraﬁtﬁmmmﬁaﬁé? TR I & R/ 37

Given below is a highly simplified diagram of the inside of the nucleus of a cell
undergoing meiosis I :

13 e T e e e ot 3 e e T 3 S s ofere o P e R,
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(a) Name the stage and its substage shown here.

(b) What particularly has happened in this substage?
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12.

13.

14.

15.

16.

Name the living plant tissue which provides mechanical support to the plant.
Mention any three characteristics of this tissue.
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How do vertical sections of dicot leaf differ from monocot leaf in regard to the
following?

(a) Mesophyll

(b) Arrangement of vascular system

e ot oo wwlieEh & B Fwtm s § Aefified ¥ ded § @ o g 27
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What happens to the green, yellow, blue and red lights of the solar radiations
falling on green leaves? Name the corresponding photosystems which absorb
the particular wavelengths. )
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Describe the condition of calyx in—

(a) mustard flower;

(b) shoe flower.
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How does our skin help in regulating body temperature when it is too hot
outside?
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17.

18.

19.

20.

21.

Name the three phases of the sigmoid (S-shaped) population growth curve.
What do the first phase and the last phase in it indicate?

formise (S-3nepfa &) e gis T i dF yrawnett & am fifaw) sadht veelt ween ik
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Family welfare programme advocates for having a small family. Mention some
other important aspects of this programme.

meﬁwwﬁmm%lmw%@ 31 AgeaqU vl farau |

Consider the wings of bat, butterfly and bird, and answer the following
questions with respect to the evidences from comparative anatomy in favour of
organic evolution :

(a) Give one general term for such organs for all the three and define it.

(b) Give one other general term for only two of these and define it.
ferrmres, faaelt ot welt & dal W fEm ffw g e few & e § geos
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What is cytokinesis as a step during cell division? In what manner does it differ
in animal and plant cells?

HIHT-TMS & IR A aTen T =101 ISR 1 BiaT 27 I8 Whha Yol agn aiew
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In what way auxins have opposite effects in root and stem? Also, mention the
general influence of auxins on (a) cell elongation and (b) fall of leaves.
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314/ISS/106A 5 [ P.T.O.



22. Name the secretion given out by the oxyntic cells of our gastric epithelium.
Mention any four functions of this secretion.

mmmﬁaﬁ%ﬁmﬁﬁWMmemlw
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23. Our small intestine is very long and narrow. Explain its any.other three major
adaptations for efficient absorption of digested food.

=0 B aifq aga wel o dR0 ¥ O i %k W I A YgU AGREH WS,
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24. (a) Describe the normal polarised state of a resting nerve fibre.

(b) Explain briefly what happens at the point of stimulation and how the
impulse is conducted further.

(c) What leads to repolarisation of the previous area?

(%) T T # @ i g B ame g s o i
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25. (a) Besides being universal, what are the other two characteristics of genetic
’ code?

(b) What is special about the three codons UAA, UGA and UAG?
(%) wEGE eR & i, TgERE BIS R/ a1 9 faftreand = 87
(@) o= HEE UAA, UGA @ UAG & a1 foriwar &7

26. (a) Write the full form of CFCs.
(b) List the three common sources of these gases.
(c) How are these gases harmful to us?
(F) CFCs %1 Q0 7™ faRaul
@) ¥ % A v A sl
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27.

28.

29.

30.

Draw a diagram of the internal structure of maize grain and label any eight
parts in it. 4

T % g ) il TEAT T TF R TR R IoH el e it @ Amie i)

(a) Define a Forest.

(bp) How do forests contribute in (i) preventing soil erosion and (i) bringing
rain? 4

(%) = f aform fefag)
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Explain how mammalian placenta acts as—

(a) a storage organ;

(b) a barrier;

(c) an endocrine gland. 5
W s (wEw) Frafafes % w9 & fhe vor w1 wan @, weem
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(a) Give the popular name and the genus name of the two plants by the
crossing of which the hybrid crop Triticale has been obtained.

(b) List the major steps in the technique amniocentesis and mention its
significance. : S
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31.

32.

33.

34.

35.

SECTION—B -
wWiE—d
OPTION—I
fapea—1

( Tools and Techniques in Biology )

( SHafmm § @ 3 qes )

Why is it necessary to provide lighting in an aquarium and at least for how
many hours? 1

Srersiteer (YRfEm) § Y YSM T T A 8 R wE-A- R wet & forg
e st =nfRa?

How do you justify that iodine solution is a reagent and not a stain? 1

A F e 6 IS et T Afvreie § 7 76w tfines (V)7

What is a centrifuge? What are its main parts? 2

sTohfe (Ffewer) Forll hed B7 T8 T W F-F B 37

How do compound microscope and electron microscope differ pertaining to—
(a) source of illumination;

(b) nature of objective lens? , 2
TH TYH GeeRll aun goae gaweslt A fmfafed & wed o Fawy ¢
(%) vy |
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Describe the procedure of preparing culture medium for culturing the fruit fly
Drosophila. 4
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31.

32.

33.

34.

35.

OPTION—II
Reea—I1

{ Economic Biology )
( anfeiw A )

Differentiate between food crops and cash ‘crops. 1

TR FUA! 9UT TRl BEl 3§ R Sl

What is special in the controlled atmosphere for preserving mushrooms to
increase their shelf-life? 1

vl (et B s T s e g e e 3 g i g 7
ferdiwan et 27 |

Briefly mention the medicinal and agricultural uses of fishes. 2
ol & fafrafa qu R-arrdt Iwnt & v & waw 7 faia)

List any four advantages of artificial insemination in cattle. 2

TafirEt # FHw Hifte F FE AR T qqEy|

(a) List two main body features of worker honeybees which help in collecting ‘
food from flowers.

(b} What are the three age-wise phases of the activities of workgr honeybees? 4
(%) ot mywiRet % 2 ger Wi aem aEy, I Fel Q e e w6 i

w21 '
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31.

32.

33.

34.

35.

OPTION—III
faerca—In

( Health Sciences )

(e T )
Define Health.
ey 6 afearn fafae |
List any two measures other than avoiding sexual contact fo prevent HIV
mfectlon
Hlvwﬁnﬁ%ﬁ%méﬁsﬁm%mmﬁﬁﬁmﬁml
Name two diseases caused due to calcium deficiency. Mention their two

common symptoms.

Hfcqmm & amaﬁﬁarsﬁaﬁaﬁﬁ%mmlﬁ%ﬁmﬁﬂ-am%ﬁml

?

Differentiate between endemic and pandemic diseases. Classify the following
diseases under these two categories : ‘

Cancer ; Goitre ; AIDS; Hypertensmn

wﬁaﬁaﬂtaﬁwﬁﬁﬁﬁ%ﬁamlﬁﬂ%ﬁaﬂﬁﬁaﬁﬁawﬁﬁwﬁgﬁ
Hm
FHEL; TNUS; UgH; AfwaE |

Name the most harmful constituent of tobacco. List any six possible harmful
effects of this constituent on human health.

m%wﬁmzﬁwmwmmlmmmq@mﬁwm%
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31.

32.

33.

34.

35.
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OPTION—IV
fasper—1v
( Emerging Areas in Biology )
( Sfrafer # 3w & )
What are the two chemical groups common to all amino acids?

it Wl ot § TE TR R A Q) TR W -8 87

Some B-cells of the lymphocytes become ‘memory cells’. What is the function of
such memory cells?

T T B-RRE T SR T T A R Rt o w27

Name and describe very briefly the two systems for inoculating yeast into the
medium for alcoholic fermentation.

Qﬁﬁmﬁm%mwﬁaﬁwmwmﬁﬁﬁﬁﬁ%w%ﬁwwmﬁaa%ﬁ
Tuig Fifw)

Which were the two discoveries in bacteria that resulted in recombinant DNA
technology?
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399 geme

What are the two basic approaches to human gene therapy? Explain each one
very briefly.
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